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'Thispaper consists of fifty (50) multiple-choice type of questions. All questions carry equal marks.

At the commencement of the examination, the question booklet will be given to you. In the first 5

minutes, you are requested to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this
cover page. Do not accept a booklet without sticker-seal and do not accept an
open booklet.

(i) Tally the number of pages and number of questions in the booklet with the

~ information printed on the cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any other discrepancy should be got
replaced immediately by a correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Bookletwill be replaced nor any
extra time will be given. ‘

Each item has four alternatives response marked (A), (B), (C) and (D). You have to darken the

circle as indicated below on the correct response against each item completely with Blue/Black

ball point pen as shown below. H.B. Pencil should not be used in blackening the circle to indicate
responses on the answer sheet. :

Example: ‘ @ . © @ Where (B) is correct response.

Your responses to the each item are to be indicated in the OMR Sheet provided to you only. If you
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If you write your Name, Roll Number, Phone Number or put any mark on any part of
the OMR Sheet, except for the space allotted for the relevant entries, which may disclosed
your identity, or use abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the Examination Hall. You are however,
allowed to carry original question booklet and duplicate copy of OMR Sheet on conclusion of
examination. .

Use of any calculator or log table etc., is prohibited.
There are no negative marks for incorrect answers. :
In case of any discrepancy found in the English and Hindi Versions, the English Version will be
treated as final. :
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EDUCATION
Paper II
Time Allowed : li- Hours] [Maximum Marks : 100

Note :— This paper contains fifty (50) objective type questions of two (2) marks

each. All questions are compulsory.

I, According to the latest model of the structure of intellect by J.P. Guilford,

the maximum number of components of intelligence could be :

(A) 12 (B) 150
(C) 180 (D) 160
2. Three of the following are associated in some way. Identify the one which

does not belong to the group :

(A) Latent learning (B) Place learning
(C) Gestalt learning (D) Sign learning
3. The tendency of later learning to hinder the memory of previously learned

material is known as :
(A) Pro-active interference (B) Retroactive inhibition

(C) Post-hypnotic amnesia (D) Fugue-memory loss
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4, Creative children cannot be ide_ntiﬁed through :
(A) Battery of intelligence tests

(B) Interview

(C) Observation of students behaviour

(D) Aptitude testé

5. For introducing special enrichment programme to gifted children, which of

the following measures, can not be adopted ?
(A) Provide them plus curriculum, homework, assighments, project work etc.

(B) Encourage them for independent library reading, problem solving,

experimenting etc.

(C) Encourage them to participate in panel discussion, workshop, seminars

ete.

(D) Segregate them to form a special section in the school/class and provide

them. special training to boost their talents

6. | Who, of the following psychologists, coined the term “Depth Psychology”—

the psychoanalytic approach of psjrchology ?
(A) Sigmund Freud (B) Eugene Bleuler

(C) Otto Rank . (D) Carl Jung

TB.C. : 22/17/ET—II 4
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7. The names of Atkinson, McClelland and Lowell are associated with :

(A) Social motives (B) N-Ach
(C) Rewards and punishments (D) Level of Aspiration
8. Match List-I (sequence of motivational conditions, according to Hull) with

List-IT (Interpretations of these conditions) and select your answer from the

codes given below it :

List-I List-I1
(@) Drive (i) The student must do something
(b) Cue (ii) The student must want something
(¢) Response (iit) The student must get something
(d) Reward (iv) The student must feel something

(v) The student must notice something

Codes :

(@) (b) () (d)
(A) (iz) W) (1) (iv)
(B) (iv) (v) (iit) (i1)
(C) () () (iv) (i1)
(D) (i1) (v) (¢) (12)

T.B.C.: 2217/ET—II 6
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- Terror in the dark, fear of snakes, worshiping an image of God, etc. are

examples of :
(A) Shadow | (B) Archetypeé
(C) Id " (D) Regression

10. The term ZPD (Zone of Proximal Development), extensively used in

constructivism was originated by :
(A) J.L. Bruner (B) dJohn Dewey
(C) dJean Piaget (D) Lev Vygotsky

11. Which of the following psychologists believed that reinforcement was not

necessary for learning to occur ?
(A) B.F. Skinner (B) Tolman
(C) Clark Hull (D) Guthrie
712. Which of the following is not a learned ‘capa:bility ?
(A) Intellectual skills- | (B) Cognitive strategy

(C) Interests B (D) _Vérbal information

TB.C.:2217ET-11 -8
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13. Which of the following individual differences found in your class, does not

significantly affect their academic performance ?
(A) Differences in character development

(B) Differences in academic potentiality

© Di’ﬁ'eren]ces in interests

(D) Differences in level of aspiratjon ' .

14. Which of the following aspects of individual’s development is most clearly defined
by heredity ?

(A) The direction (B) The limits
(C) | The level (D) The rate
15. Forgetting can be considered to be :
(A) a passive process of fading
(B) result of incorrect learning
()] | the result of insufficient learning
D) a -case of ﬁegative transfer
16. The curriculum of the school exists for the purpose of -
(A) sétting standards for academic attainment
(B) providing the child with 'meaningful and educative experiencés
(C) providing the child with skills necessary for effective living

(D) providing uniformity in schools

T.B.C. : 22/17/ET—II 10
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17, _Greafest personal and social progress stems from individuals who :
(A) are most adjusted
(B) are rea§onably curious and discontent with the status quo
(C) have greatest insight into social conditions
(D) have the greatest drive to s-ucceed

18. The emphasis which best describes the Gestalt view point on transfer of training

is that upon :
(A) Similarity in the components of the two learning situations
(B) The patterns and relationships
(C) Generalizations and principles
(D) The applicability of varied situations of whatever is learned
19. MA is to level as IQ is to :
(A) altitude (B) area
(C)A rate , (D) range
20. The law of effect is most closely connected wifh the concept of :
(A) reinforcement . (B) trial and error behaviour

(C) practice (D) tension reduction

T.B.C. : 22/17/ET—II | 12
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21.  Which of the following is an odd man out ?

(A) For an economist, education is a commodity in which it is profitable to

invest

(B) For a psychiatrist, education must ensure development of good mental

health and a wholesome personality %
(C) For a sociologist, education is a socializing agency

(D) For a philosopher, education must create a perceiving mind or a sharp

intellect

22.  According to which of the following educationalists, education is an unfoldment

of what is already enfolded ?
(A) Pestalozzi (B) Froebel
(C) Roussseau (D) Vivekananda

23. What, accﬂrding to logical pnsitiviéts, is the function of philosophy ?
(A) To study the nature of knowledge and the knowing process
(B) To study the nature of existence and ultimate reality
(C) To study the meaning and nature of values

(D) To conduct a semantic analysis of the language used in the discourse

T.B.C.: 2217/ET—II 14
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24.  Compare List-I with List-II and select your answer from the codes given under

the lists :
List-I List-II
(@) Apriori proposition (1) Knowledge based on experience‘
(b) A posteriori proposition (ii) Reasoning from general to particular
(c) Deductive reasohing ~ (@) Position that reason is the chief source
of knowledge
(d) Inductive reasoning (iv) Self-evident khowledge
| (v) Reasoning from particular to general
Codes :
(a) ) (c) (d)
(A) ) @ (i1) (iv)
(B) (iii) @ - O (i)
(©) @iv) @ (i) )
(D) (iv) (i1) (i) (V)

95. Which of the following institutes/agencies is the world’s role international

organisation concerned with the promotion and development of distance

education and open learning ?

(A)
(B)
(®)

(D)

COL (Common Wealth of Learning)
UNICEF
UNESCO

Commonwealth Foundation

T.B.C. : 22/17/ET—II 16
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26.

27.

28.

Which of the following is not a characteristic of philosophically minded

person ?

(A)
(B)
(&)

D)

Comprehensiveness of thought and outlook .
Objectivity of thought and outlook
Penetrative attitude

Flexibility of thought or thinking

Which of the following does not relate to prescriptive theory of

education ?

(A)

(B)

©

g

The child should be encouraged to find facts by himself

The education ought to promote the development of innate potentialities

of the child

Education is the most effective way of converting the human animal

into a human being

Education should prepare the learner as a good citizen or democrat

From the angle of epistemology :

(A)

(B)

©

(D)

The pragmatist. says that truth must be obtained thrdugh objective rather

than subjective means
The idealist rejects the dualism of man and nature

The realist maintains that truth is arrived at through logical

contemplation and revelation

The pragmatist says that man’s mind is the product of biological evolution

T.B.C.: 22/17/ET—II ' 18
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29.

- 30.

31.

32.

The concept of cultural lag was developed by :

(4) Ogburn | (B) David Cooper

(C) Ottoway : (D) M.N. Sriniwas

Three of the following are obstacles to cultural change which one is not ?

(A) cultural inertia .‘ (B) the degree of isolation

- (C) the cultural lag (D) vested interest

Most educational sociologists agreé that character education :

(A) is impossible without religious doctrines

*(B) 1is exclusive province of church and home

(C) is best handled by giving students ready made judgements

(D) should involve the direct discussion of moral issues on rational grounds

The best indication of a well integrated social order is :

(A) The solidarity of a group in times of crisis

(B) The commonness of ideology and purpose

(C) The productivity of the members

(D) The relative absence of socio-economic cleavage/split

T.B.C.: 22/17/ET—II | 20
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33.

34.

35.

36.

Social development is essentially a matter of :

(A) Conformity to the demands of social order

(B) Achievement of social security and acceptance

(C) The integration of one’s purposes with those of the social order
(D) The development of social skills | -

Hgman nature is the result of :

(A) maturation of one’s original nature

(B) heredity factorsronly

(C) environmental factors only

(D) man’s interaction with his culture

Group structures are measﬁred most commonly by the :

(A) sociogram (B) group rating scale
(C) socio drama | (D) anecdotal record

Who, among the following sociologists, considered social stratification as

desirable and necessary for the system to function smoothly ? |
(A) Parsons | (B) Max Weber

(C) Marx - (D) Herbart Spencer

TB.C.:2217T/ET—II ‘ 29
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37. The research hypothesis : “There is a significant difference between academic
achievement of M.Ed. (Regular) and M.Ed. (Distance education) students

enrolled with H.P. University Shimla” is a type of :
(A) declarative hypothesié | B) nqn—declarative hypofhesis
(C) null h§;p0thesis (D) question hypothesis

38. Random sampliné is also known-as : -

(A) purposive sampling (B) nop~probability san;pling

(C) non-purposive sampling ('D)‘ probability sampling

39. If you require to correlate the results of a newly constructed test with the
results of previously available standardized test, which measures the same

ability as ihtended by the new teét, we tend to establish :
(A) content validity _ (B) construct validity
(C) concurrent validity (D) predictive validity

40. In which of the following types of research we gather qualitative data most

frequently ?
(A) Correlational/causal comparative -
(B) Experimental/qﬁasi—experimental
(C) Case study

(D) Historical

TB.C.: 2217ET—II 24
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41. Which of the following variables is the one that influences the result of the

experiment, but is not measurable/controllable ?
(A) independent variable

(B) dependent variable

(C) extraneous varigble

(D) - intermediary/onediating variable

42.  When specific population is measured over a period of time, in order to study

the effect of a particular event, say in service training, it is called a :
(A) Trend study (B) Cohort study
©) Papel study (D) Evaluative study
43. Type-1 error is caused when :
(A) We accept a null hypothesis which is infact false
(B) We reject a null hypothesis which is really true
(C) We accept é declarative hypothesis, which is false

(D) We reject a directional hypothesis which is infact true
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44.

45.

46.

47.

Which of the following does not belong to longitudinal survey studies ?
(A) Panel studies (B) Cohort studies
(C) Causal comparative studies (D) Trend studies

If you require to study the social behaviour of drug addicts or alcoholics, which

of the following techniques would be most desirable to use ?
(A) - purposive sampling (B) stratified random sampling
(C) incidental sampling _ (D) snowball sampling

For being selected for a clerical job, one must be able to type (word process)

at least 50 words without error per minute. Such a test is an example

of :
(A) norm-referenced test (B) ecriterion _referenced test
(C) diagnostic test (D) special abilities test

Measurement data on which type of measurement scale are almost non-existent

in educational research ?
(A) Nominal scale (B) Ordinal scale

(C) Interval scale (D) Ratio scale
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48.

49.

50.

What percent of area is covered by + 20 in a normal probability curve ?
(A) 68.26% (B) 99.73%

(C) 95.44% - . D) 78.26%

Test of special ability is related to aptitude test in the same way as Children

Appreception Test -(CAT) is related to :
(A) test of intelligence

(B) projective test of personality

(C) test of performance -

(D) test of creative thinking

For determining reliability coefficient of a test, which of the following methods

requires a single administration of single form of the test ?
(A) Test-retest method

(B) .Split half method

(C) Parallel form of the test |

(D) Rational equivalence method
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49.

50.
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